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E R [FHEE 230 236 466 233
R LLIET 160 181 341 168
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E5E2TH 173 197 370 173
g5H3TH 180 163 343 211
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21T RET1TH 70 88 158 77
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H/HET1TH 175 220 395 197
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Bl 2 [EXE1TH 43 69 112 64
EXR2TH 101 130 231 127
EXHEISTH 279 275 554 266
EXHW4TH 272 304 576 264
KADHET 574 642 1,216 493
A A0 ET 245 294 539 257
B EE 99 93 192 107
H $FHT 44 52 96 64
SRS SFET 60 80 140 77
HHEHT 82 100 182 113
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BHT 310 389 699 357
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fitRI1TH 84 111 195 113
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ZKHT 36 46 82 43
15 BT 42 65 107 57
RILHT 52 59 111 64
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REHET 366 405 771 344
H ASEHET 471 507 978 509
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=1 29 26 55 36
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ESHT 82 110 192 121
EEH 61 79 140 74
SFHT 48 55 103 49
X#HET1TH 51 41 92 60
X#RT2TH 30 24 54 40
A ET 164 138 302 189
ET1TH 44 68 112 60
S E2TH 46 56 102 72
ERNE 82 88 170 94
S ETATH 75 83 158 78
HET1TH 60 68 128 76
HHET2TH 164 200 364 205
HET3TH 154 150 304 173
1= ET 163 169 332 166
FaAT 96 106 202 103
= JERT 57 58 115 53
EHHET 151 163 314 147
=ARXW1TH 205 238 443 216
=AR#2TH 283 308 591 291
=AR#3TH 226 309 535 256
=AR#4TH 195 208 403 190
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Ey51TH 532 595 1,127 534
ErE2TH 393 420 813 409
E~B3TH 347 377 724 346
Er &4 TH 493 506 999 464
E~IB5TH 260 313 573 249
ErIE6TH 417 474 891 471
Ey57TH 338 374 712 389
B4 B8 TH 225 274 499 228
B~ 59T H 496 560 1,056 469
F#%1TH 160 185 345 155
+##%2TH 222 286 508 246
+F#%#%3TH 196 285 481 290
+F#&#%4TH 280 349 629 250
+F#%#%5TH 254 311 565 280
+L#&#%6TH 383 406 789 325
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i 2200 2402 4602] 2,039
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2 & L&k 654 753 1,407 535
+#EE1TH 81 114 195 89
+$ER2TH 339 391 730 340
+$#EE3TH 489 564 1,053 513
L#EHATH 118 120 238 122
+#EE5TH 252 295 547 258
+{E/R6TH 288 324 612 307
+#ER7TH 282 301 583 276
E41TH 86 93 179 75
EBHE2TH 14 33 47 40
E43TH 374 411 785 342
EEATH 169 184 353 165
E4E5TH 604 715 1,319 636
EE6TH 174 200 374 180
BEEHFEHITH 140 178 318 187
BEXFHEH2TH 377 379 756 393
E4XFHA3TH 428 439 867 390
BEEER1TH 312 362 674 358
BEHEER2TH 388 428 816 405
BEYEERR3TH 85 75 160 105
BHEERATH 275 286 561 378
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& X [EwRR1TH 157 182 339 175
BHiEEHE2TH 172 195 367 201
HER3TH 164 211 375 189
BHiEHE4TH 303 353 656 299
HERE5TH 294 322 616 271
H{EERE6TH 370 403 773 334
HER7TH 464 509 973 439
H{EHESTH 501 540 1,041 488
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FEtERE1TH 107 120 227 95
FEER2TH 124 148 272 141
FafER3TH 287 309 596 270
FHfER4TH 361 391 752 340
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FEfER6 T H 478 482 960 465
FEtER7TH 434 462 896 398
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FAER9TH 465 559 1,024 437
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#FHEH2TH 461 453 914 401
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#FES5TH 276 312 588 215
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T IETRE S 110 104 214 70
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IR ARE 43 39 82 29
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SESLRTEE 24 27 51 14
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LRI {&EBE 1,727 1,809 3,536 1,528
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0 =& 580 570 1150
1 682 562 1244
2 682 603 1285
3 680 617 1297
4 688 657 1345
5 671 674 1345
6 637 629 1266
7 696 690 1386
8 625 656 1281
9 688 672 1360
10 664 632 1296
11 691 674 1365
12 701 670 1371
13 660 654 1314
14 712 679 1391
15 692 683 1375
16 704 669 1373
17 726 733 1459
18 748 654 1402
19 735 677 1412
20 741 721 1462
21 692 695 1387
22 652 629 1281
23 687 695 1382
24 666 619 1285
25 654 680 1334
26 667 735 1402
27 655 707 1362
28 672 706 1378
29 689 699 1388
30 702 716 1418
31 792 707 1499
32 688 796 1484
33 794 754 1548
34 832 761 1593
35 803 815 1618
36 912 890 1802
37 918 872 1790
38 866 923 1789
39 858 929 1787
40 958 971 1929
41 1022 931 1953
42 921 1028 1949
43 1066 1025 2091
44 1058 1059 2117
45 1119 1052 2171
46 1193 1149 2342
47 1160 1182 2342
48 1126 1129 2255
49 1101 1030 2131
50 1025 1006 2031
51 1021 945 1966
52 890 979 1869
53 953 999 1952
54 709 790 1499
55 902 923 1825



56 813 895 1708
57 837 882 1719
58 816 932 1748
59 799 843 1642
60 822 865 1687
61 890 928 1818
62 857 837 1694
63 838 949 1787
64 887 932 1819
65 875 928 1803
66 919 925 1844
67 913 1097 2010
68 900 1042 1942
69 1000 1091 2091
70 983 1184 2167
71 1132 1323 2455
72 1128 1284 2412
73 1067 1236 2303
74 633 802 1435
75 711 850 1561
76 761 982 1743
77 705 922 1627
78 654 903 1557
79 689 881 1570
80 546 828 1374
81 459 721 1180
82 464 736 1200
83 480 757 1237
84 495 735 1230
85 378 657 1035
86 344 631 975
87 317 597 914
88 244 557 801
89 226 548 774
90 191 460 651
91 174 447 621
92 126 373 499
93 86 324 410
94 76 266 342
95 60 228 288
96 51 162 213
97 19 121 140
98 17 108 125
99 12 71 83
1007% LL E 6 127 133
£t 70,226 77,269 147,495
FEHX 5 g8 8 o
15mKRiE 10,057 9,639 19,696
15/ ~641% 42,328 42,726 85,054
65m Ll E 17,841 24,904 42,745
= 70,226 77,269 147,495




